Equations of Lax Type with a Triple Bracket *

RAÚL FELIPE AND RAÚL VELÁSQUEZ

Departamento de Matemáticas, Universidad de Antioquia, A.A. 1226-Medellín, Colombia

(Research paper presented by A. Ibort)

AMS Subject Class. (1991): 35Q58, 58F07

Received December 5, 1997

1. Introduction

Equations with several brackets arose originally in the works of Brockett [2], [3] (for ordinary differential equations) and Felipe [5] (for partial differential equations) of double bracket equations of Lax type.

The purpose of this note is to study triple bracket equations of the form

(1)
$$\frac{\partial L}{\partial t} = [L, [L, [L, P]]].$$

We deal with some algebraic properties of these equations, in particular we show that, as in the classical case, they are related to the presence of an infinite sequence of first integrals. Also we exhibit some new integrable systems.

2. NOTATIONS AND PRELIMINARY RESULTS

A pseudodifferential operator is a formal series of the form

(2)
$$R = \sum_{i=0}^{n} r_i(x)\partial^i, \qquad n \in \mathbb{N}.$$

As usual, ∂ denotes $\frac{\partial}{\partial x}$. The coefficients $r_i(x)$ are supposed to lie in some differential algebra over \mathbb{C} , of smooth functions of x, for example $\mathbb{C}[[x]]$. To

^{*}This work was supported in part by the TWAS under grant 95-344 RG/MATHS/LA and in part by COLCIENCIAS under grant 1115-05-339-96.

multiply two such operators, we need to know how to move ∂^{-1} across a function r(x):

$$\partial^{-1}r \cdot = \sum_{i=0}^{\infty} (-1)^j r^{(j)} \partial^{-(j+1)}$$

where $r^{(j)} = \frac{\partial^j r}{\partial x^j}$. It is easy to check that this makes the set of all pseudodifferential operators an associative algebra, which we denote by Psd.

If $R = \sum r_i \partial^i$ is a pseudodifferential operator, we shall write R_+ for the differential operator part, $R_+ = \sum_{i \geq 0} r_i \partial^i$ and $R_- = \sum_{i < 0} r_i \partial^i$.

Thus $R = R_+ + R_-$. An element $R \in Psd$ has order n if

$$R = \sum_{-\infty}^{n} r_i \partial^i$$

and $r_n \neq 0$, we denote ord (R) = n. If ord (R) = n and $r_n = 1$, R is called a monic operator. Let $E^{(n)}$ be the set of all elements in Psd of order at most n. Then we have formally a direct sum decomposition

$$Psd = D \oplus E^{(-1)}$$

where D is the set of all differential operator $(R = R_+ \text{ if } R \in D)$. Psd is a Lie algebra with the bracket defined as usual, $[R_1, R_2] = R_1 R_2 - R_2 R_1$.

We call a first order monic operator in Psd of the form

$$L = \partial + u_{-1}\partial^{-1} + u_{-2}\partial^{-2} + \cdots$$

a Lax operator $(u_{-n} = u_{-n}(x,t))$.

We recall that, if $R = \sum r_i \partial^i \in \text{Psd}$, then $\frac{\partial R}{\partial t} = \sum \frac{\partial r_i}{\partial t} \partial^i$.

Let L be a Lax operator. A triple bracket equation formed from L is an equation of the form

(3)
$$\frac{\partial L}{\partial t} = [L, [L, [L, P]]]$$

where $P \in D$. The possible operators P are determined by the requirement that $[L, [L, [L, P]]] \in E^{(-1)}$. The pair (P, L), where $P \in D$ and L is a Lax operator, is called admissible if the triple bracket [L, [L, P]] belongs to $E^{(-1)}$.

Let L be a Lax operator. Then, as in the classical case, for every $n \in \mathbb{N}$, $((L^n)_+, L)$ is an admissible pair. In fact $((L^n)_+, L)$ is a Brockettt pair (see [5]), i.e. $[L, [L, (L^n)_+]]$ is in $E^{(-1)}$. Hence $[L, [L, (L^n)_+]] \in E^{(-1)}$. This shows that $((L^n)_+, L)$ is an admissible pair.

LEMMA 1. Let L be a Lax operator and (P, L) an admissible pair such that $[L, P] \in E^{(-1)}$. Then P is a linear combination of $(L^n)'_+s$ with coefficients in \mathbb{C}

Proof. This lemma follows directly from the lemma 3.1 of [7]. ■

It should be noted that the condition $[L, P] \in E^{(-1)}$ for $P \in D$ implies that the top order coefficient of P is a constant. On the other hand, if (P, L) is an admissible pair, then the top order coefficient of P is a polynomial of the form $(ax^2 + bx + c)$, where a, b and c are complex numbers.

LEMMA 2. Let L be a Lax operator, and (P, L) be an admissible pair such that the top order coefficient $(ax^2 + bx + c)$ of P is not constant. Then, if ord(P) = n, P can be written in the following form

(4)
$$P = (ax^{2} + bx + c)(L^{n})_{+} + \sum_{k=0}^{n-1} r_{k}(L^{k})_{+}$$

where $r_k \in \mathbb{C}$ [[x]] for every k.

Proof. Suppose the lemma is true for all admissible $P \in D$ of order less than n, such that the top order coefficient is not constant. Let us take an admissible pair (P, L), such that, ord (P) = n and with the same property. Let $(ax^2 + bx + c)$ be the top order coefficient of P. We define

$$L_{(a,b,c)}^{n} = (ax^{2} + bx + c)(L^{n})_{+} + \sum_{k=0}^{n-1} q_{k}(L^{k})_{+}$$

where the coefficients q_k are formal power series that are obtained by imposing the condition: $((P-L^n_{(a,b,c)}),L)$ is an admissible pair. To eliminate the coefficient of ∂^{n-1} in $[L,[L,[L,(P-L^n_{(a,b,c)})]]]$ we can take $q_{n-1}=p_{n-1}+(dx^2+ex+f)$, where p_{n-1} is the coefficient of ∂^{n-1} in P (because $[\partial,[\partial,[\partial,(dx^2+ex+f)\partial^{n-1}]]]=0)$. Notice that we may assume that $d\neq 0$ or $e\neq 0$. Now, the equation equivalent to the annihilation of ∂^k for $k=0,1,\cdots,n-2$ in $[L,[L,[L,(P-L^n_{(a,b,c)})]]]$, only contains $q_k,q_{k+1},\cdots,q_{n-1}$ and their derivatives, and it is of the form $q_k'''=Q_k(q_{k+1},\cdots,q_{n-1})$, where Q_k is a differential polynomial in q_{k+1},\cdots,q_{n-1} with coefficients in $\mathbb{C}[[x]]$. This fact allows us to calculate $q_{n-2},q_{n-3},\cdots,q_0$ recursively.

Since, ord $(P - L_{(a,b,c)}^n) < n$ and the top order coefficient of $P - L_{(a,b,c)}^n$ is not constant, we have

$$P - L_{(a,b,c)}^n = (dx^2 + ex + f)(L^{n-1})_+ + \sum_{k=0}^{n-2} t_k(L^k)_+$$

where $t_k \in \mathbb{C}$ [[x]]. Therefore P can be represented as a \mathbb{C} [[x]]-linear combination of $(L^k)_+$'s.

Let L be a Lax operator, the following system of infinitely many triple bracket equations is called the triple bracket hierarchy

(5)
$$\frac{\partial L}{\partial t_n} = [L, [L, [L, (L^n)_+]]]$$

We assume that the coefficients of L in (5) are functions dependent on some additionals variables $t_1, t_2, t_3, \dots, t_n, \dots$. We remark that, $L = \partial$ is a trivial solution of (5).

In many cases it is convenient to represent the Lax operator L in a formal dressing form, $L = \phi \partial \phi^{-1}$, where ϕ is determined up to multiplication on the right by a series in ∂^{-1} with constant coefficients starting with 1. In terms of ϕ , the equations of the triple bracket hierarchy are

(6)
$$\frac{\partial \phi}{\partial t_n} = [L, [L, (L^n)_-]]\phi$$

In fact, let ϕ be a solution of (6), where $L = \phi \partial \phi^{-1}$. Then L is a Lax operator that satisfies (5). To see this, notice that from (6) we immediately obtain the equation

(7)
$$\frac{\partial \phi^{-1}}{\partial t_n} = -\phi^{-1}[L, [L, (L^n)_-]]$$

Now,

(8)
$$\frac{\partial L}{\partial t_n} = \frac{\partial \phi}{\partial t_n} \partial \phi^{-1} + \phi \partial \frac{\partial \phi^{-1}}{\partial t_n}$$

If we replace $\frac{\partial \phi}{\partial t_n}$ and $\frac{\partial \phi^{-1}}{\partial t_n}$ in (8) by the right parts of (6) and (7), respectively, we have

$$\begin{split} \frac{\partial L}{\partial t_n} &= [L, [L, (L^n)_-]] \phi \partial \phi^{-1} - \phi \partial \phi^{-1} [L, [L, (L^n)_-]] \\ &= -[L, [L, [L, (L^n)_-]]] \\ &= [L, [L, [L, (L^n)_+]]]. \end{split}$$

3. Invariant polynomial functionals

In this section we will work with pseudodifferential operators (1) whose coefficients $r_i(x)$ are periodic real valued C^{∞} functions on \mathbb{R} of period 1. A conservation law is an identity

$$\frac{\partial H}{\partial t} = \frac{\partial J}{\partial x}$$

that follows formally from (3). The conserved density H and flux J are differential polinomials in $u_{-1}, u_{-2}, u_{-3}, \cdots$ and its x-derivatives $u_{-n}^{(k)}$. An invariant polynomial functional for (3) is a functional of the form

$$F(H) = \int_0^1 H \, dx$$

where H is a conserved density. Notice that if F is an invariant polynomial functional, then $\frac{\partial F}{\partial t} = 0$. For $R \in \text{Psd}$ we define the residue

$$res R = r_{-1}$$

Next, we shall also use the Adler functional

$$Tr R = \int_0^1 \operatorname{res} R \, dx$$

This functional has the following property, $Tr[R_1, R_2] = 0$, for every $R_1, R_2 \in \text{Psd}$ (see the proof of theorem 4).

LEMMA 3. For any $k \geq 2$, by virtue of the equations (5),

$$\frac{\partial L^k}{\partial t_n} = [L^k, [L, [L, (L^n)_+]]]$$

holds.

Proof. Let k = 2, then

$$\begin{split} \frac{\partial L^2}{\partial t_n} &= \frac{\partial L}{\partial t_n} L + L \frac{\partial L}{\partial t_n} \\ &= [L, [L, [L, (L^n)_+]]]L + L[L, [L, (L^n)_+]]] \\ &= (L[L, [L, (L^n)_+]] - [L, [L, (L^n)_+]]L)L \\ &+ L(L[L, [L, (L^n)_+]] - [L, [L, (L^n)_+]]L) \\ &= L^2[L, [L, (L^n)_+]] - [L, [L, (L^n)_+]]L^2 \\ &= [L^2, [L, [L, (L^n)_+]]]. \end{split}$$

Now, suppose the lemma is true for k=r, i.e. $\frac{\partial L^r}{\partial t_n}=[L^r,[L,[L,(L^n)_+]]]$. We have

$$\begin{split} \frac{\partial L^{r+1}}{\partial t_n} &= \frac{\partial L^r}{\partial t_n} L + L^r \frac{\partial L}{\partial t_n} \\ &= [L^r, [L, [L, (L^n)_+]]] L + L^r [L, [L, (L^n)_+]]] \\ &= (L^r [L, [L, (L^n)_+]] - [L, [L, (L^n)_+]] L^r) L \\ &+ L^r (L [L, [L, (L^n)_+]] - [L, [L, (L^n)_+]] L) \\ &= L^{r+1} [L, [L, (L^n)_+]] - [L, [L, (L^n)_+]] L^{r+1} \\ &= [L^{r+1}, [L, [L, (L^n)_+]]]. \end{split}$$

THEOREM 4. The polynomial functionals

$$F_k = Tr L^k = \int_0^1 \operatorname{res} L^k dx \qquad k = 1, 2, 3, \cdots$$

are invariant polynomial functionals.

Proof. It is well known that $res[R_1, R_2] = \partial h$, where h is a differential polynomial in the coefficients of R_1 and R_2 , here $R_1, R_2 \in Psd$. Hence

$$\frac{\partial}{\partial t_n} (\operatorname{res} L^k) = \operatorname{res} \frac{\partial L^k}{\partial t_n} = \operatorname{res} [L^k, [L, [L, (L^n)_+]]]$$
$$= \frac{\partial J_k}{\partial x}$$

where J_k are differential polynomials in u_{-n} , $n=1,2,3,\cdots$ and it is x-derivates $u_{-n}^{(i)}$, $i,n=1,2,3,\cdots$.

4. Zakharov-Shabat type equations and some new integrable systems

The purpose of this section is to indicate how the system (5) generates new integrable equations. As we will see, they have the form of zero-curvature type equations.

THEOREM 5. Let $B_s = (L^s)_+, s \ge 1$. Equations (5) imply

(9)
$$\frac{\partial B_n}{\partial t_m} - \frac{\partial B_m}{\partial t_n} = [L, [L, [B_n, B_m]]]_+.$$

Remark. Every equation given by (9) is equivalent to a closed system of partial differential equations.

Proof. It is easy to see that if $s \geq 1$, then

(10)
$$[L^s, [L, (L^n)_+]]] = [L, [L, (L^s, (L^n)_+]]].$$

From (10), and according to lemma 3

$$\begin{split} \frac{\partial B_n}{\partial t_m} - \frac{\partial B_m}{\partial t_n} &= [L, [L, [L^n, (L^m)_+]]]_+ - [L, [L, [L^m, (L^n)_+]]]_+ \\ &= [L, [L, [L^n, B_m] - [L^m, B_n]]]_+ \\ &= [L, [L, [B_n, B_m]]]_+ - [L, [L, [(L^n)_-, (L^m)_-]]]_+ \\ &= [L, [L, [B_n, B_m]]]_+. \end{split}$$

Next we consider the case n=3 and m=2. It is well known that

$$B_2 = \partial^2 + 2u_{-1}$$

and

$$B_3 = \partial^3 + 3u_{-1}\partial + 3(u_{-2} + u'_{-1}),$$

where the prime denotes derivative with respect to x. On the other hand

(11)
$$[B_3, B_2] = -3(2u'_{-2} + u''_{-1})\partial + 6u_{-1}u'_{-1} - 3u''_{-2} - u'''_{-1}.$$

Then by virtue of (11) we can see that for n = 3 and m = 2, equation (9) is equivalent to the equations

(12)
$$\frac{\partial u_{-1}}{\partial t_2} = -(2u_{-2}^{""} + u_{-1}^{"""})$$

and

(13)
$$3\frac{\partial}{\partial t_2}(u_{-2}+u'_{-1})=2\frac{\partial u_{-1}}{\partial t_3}+6(u_{-1}u'_{-1})''-3u''''_{-2}-u'''''_{-1}.$$

From (12) and (13) we get

$$\frac{\partial^2 u_{-1}}{\partial t_2^2} = -\left(\frac{4}{3}\frac{\partial u_{-1}}{\partial t_3} + 4(u_{-1}u'_{-1})'' + \frac{1}{3}u'''''_{-1}\right)'''.$$

It is clear that this equation can be written in the form

(14)
$$\frac{\partial^2 u_{-1}}{\partial t_2^2} = \left(\frac{4}{3} \frac{\partial u_{-1}}{\partial t_3} - 4(u_{-1}u'_{-1})'' - \frac{1}{3}u'''''_{-1}\right)'''.$$

The equation (14) might be called the $(KP)^3$ -equation. If u_{-1} does not depend on t_2 , then (14) reduces to

(15)
$$\frac{4}{3}\frac{\partial u_{-1}}{\partial t_3} = 4(u_{-1}u'_{-1})'' + \frac{1}{3}u'''''_{-1} + h(x),$$

where h(x) is a polynomial of degree 2 in x. In the case h(x) = 0, this equation might be called the $(KdV)^3$ -equation.

REFERENCES

- [1] BOLCH, A.M., BROCKETT, R.W., RATIU, T., A new formulation of the generalized Toda lattice and their fixed point analysis via the momentum map, Bull. Amer. Math. Soc., 23 (1990), 477-485.
- [2] BROCKETT, R.W., Least squares matching problems, *Linear Algebra and its Applications*, **122** (1989), 761-777.
- [3] BROCKETT, R.W., Dynamical system that sort lists, diagonalize matrices and solve linear programming problems, *Linear Algebra and its Applications*, **146** (1991), 79-91.
- [4] DICKEY, L.A., Soliton Equations and Hamiltonians system, Advances Series in Mathematical Physics, 12 (1991).
- [5] Felipe, R., Algebraic aspects of Brockett type equations, submitted to *Physica D*.
- [6] Manin, Yu I., Algebraic aspects of nonlinear differential equations, J. Sov. Math., 11 (1979), 1-122.
- [7] MULASE, M., Cohomological structure in soliton equations and Jacobians varieties, J. Diff. Geom., 19 (1984), 403-430.